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English
Test Specification Chart and Model Questions for External Examination
(Grade 6-8)

The final examination is based on the written test which covers reading and
writing skills. Grammar is incorporated in writing section. The test follows the
following test specification chart.

Reading (25 marks)

The assessment of reading skill follows the following structure:

1. Reading 1: One short reading text from the textbook with one type of
comprehension question (5 marks)

2. Reading 2: One short reading text from the textbook with one type of
comprehension question (5 marks)

3. Reading 3: One short reading text not given in the textbook with one type of
comprehension question (5 marks)

4. Reading 4: One short reading text not given in the textbook with two types
of questions. (10 marks)

Note:

e Text types for reading 3 and 4: Story, timetable, menus, charts, calendar,
notice, letter, news stories, brochure, biography/autobiography and short
essay).

e The length of the text of reading 3 and 4 should not exceed 250 and 300
words respectively.

e Question types:

1. True/False

2. Fill in the gaps

3. Multiple choice

4. Matching

5. Ordering

6. Short Answer Questions

e Text type should be different for reading 1 and 2. For example, letter in
Reading 1 and story in Reading 2.

e Type of texts in Reading 1 and 2 should not be repeated in Reading 3 and 4
too.
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e Reading 4 should at least contain three questions for testing of vocabulary.
e The distribution of comprehension questions should be based on the
following table:

Type of comprehension Number of questions
Literal comprehension 10

Reorganization 6

Inference 6

Evaluation and reflection 3

Writing* (25 marks)

The assessment of writing skill follows the following structure:

1. Punctuation: A short and simple paragraph containing ten punctuation
errors. (5 marks)

2. Guided writing: One task: paragraph/ news story/ story/ description of
tables/charts and diagrams with some guidelines (5 marks)

3. Freewriting: One task: personal or official letter, or a short essay (10 marks)
Grammar: 5 marks
The grammar questions should cover the following contents:

Grade 6 Grade 7 Grade 8
1. Article 1. Article 1. Article
2. Prepositions 2. Prepositions 2. Preposition
3. Tense

3. Tense 4. Connectives 3. Tense
4. Connectives 5. Comparative and | 4. Connectives
5. Comparative and supgrlatlve 5. Question tag

superlative 6. Subject Verb

' agreement 6. Reported speech

6. . Negation and | 7. Negation and | 7. Voice

uestion :
a questions 8. Conditional
7. Common nouns 8. Reported speech sentences

(statements)

! In case of writing tasks, give the tasks that are included in the course of the respective grades.
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8. Modal verbs 9. Conditional 9. Subject-verb
9. Used to sentences agreement

10. Modal verbs 10.  Question  and

10 Imperative .
negation

Types of questions:

There will be 10 multiple choice questions (one question from each

content) for grades 6 and 7. But, the type of questions for grade 8 will be
as given below:

1. Reproduction: It should cover tense, question tag, reported speech, voice,
guestion and negation) (5X0.5=2.5 marks)

2. Multiple choice (individual sentences or a contextual passage): It should
contain article, preposition, connectives, conditional sentence and subject-verb
agreement) (5X0.5=2.5)

Note:

The writing task type should not be similar to that of reading texts given in the
reading section.

English (Grade-6) 11




Model Question Set
(Grade 6)
Compulsory English
(Reading and writing)

Grade: 6 F. M.: 50
Attempt all the questions.

12

1. Read the text and answer the questions. 5

In towns and cities, the use of fossil fuels (oil, coal and gas) for heating
results in large amounts of carbon dioxide filling the atmosphere.
Although some cities have been made smokeless zones, the exhaust
fumes from the vehicles on the roads has meant that air pollution
continues to be a major problem.

Each of us is guilty of polluting our environment to some extent. Almost
everything we buy today comes in some sort of container or packaging,
made of plastic, glass or aluminium which we usually throw away.
Attempts have been made to encourage factories to recycle these
materials.

How long can we allow this pollution to continue? Scientists tell us that
the increased amount of carbon dioxide in the atmosphere may soon
have disastrous effects. They fear that it will raise average temperature
around the world and cause the polar ice caps to melt. If this happens,
the level of the ocean will rise by four to six metres and vast populated
areas of planet will be covered by water. Can we afford to make such
risks by continuing to pollute our environment?

Give examples of fossil fuels.

What causes air pollution in the cities?

What do people do with the plastic containers?

What will be the effect of the increased carbon dioxide in the
atmosphere?

e. What according to the passage will happen to the vast populated
areas?

apop

2. Read the text and complete the given sentences with the

words/phrases from the text. 5

English (Grade-6)




A few years ago, while | was on holiday in the Himalayas, | stopped for the
night in a small village. It was a poor place and there was no proper hotel,
but the owner of a restaurant offered me a bed for the night.

“Please wait here,” he said, pointing to a table just outside his restaurant,
“while | prepare your room.” It was a beautiful evening. The sun was setting
behind the dark mountains and the stars were just beginning to come out.
The villagers were lighting fires and the stars were just beginning to come
out. The villagers were lighting fires for their evening meals and there was a
pleasant smell of wood smoke in the air.

Then | noticed that | was no longer alone. Someone was sitting at the table
beside me. It was an old man with a long white beard. His clothes were dirty
and almost in rags.

“What do you want?” | asked. “Let me tell your fortune, sir”, he said. |
laughed. “I don't believe in that sort of thing,” | told him. All the same, the old
man took hold of my hand. “I can tell you your future,” he said. | tried to take
my hand away, but the old man held on to it, gently but very firmly.

a. There was nogood ........... in the village.

b. Hewaitedata ............. while the owner was preparing his room.

c. The writer liked the ........... of wood smoke.

d. The old man was wearing dirty ............... and they were almost in
rags.

e. The old man wanted to tell the writer's .............

f. The old man continued catching the writer's hand ......... and very
firmly.

3. Read the text and write whether the given statements are True or
False. 5

Are cartoons always nice?

The first time | took my daughter to the movie theatre she was 6 and the
movie was "Bambi”. I'm a movie lover, so | had chosen it carefully and
thought a cartoon movie would be an effective introduction to the Seventh
Art World.

My point is: are cartoons really safe for kids? Or do parents need to pay
attention to the type of cartoons kids are watching during their spare
time?

Once | sat on the sofa to watch a cartoon with my 8-year-old son and got
completely dumbfounded when | realized a cartoon character was
agonizing right in front of us, bleeding as if it was an action adult movie!
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Everybody knows that the cartoon "The Simpsons" doesn't spread nice
manners or behaviour, but what about the "kid stuff* they display in the
afternoon for young children?

The next time you take a kid to the movies may be a cartoon doesn't
make the best choice, unless you take the time to watch it and analyze its
content first. Or you take the risk of exposing your child to messages s/he
isn't prepared to get yet.

a. Bambi is a cartoon movie.

b. There isn't violence in cartoon movies.

c. Parents shouldn't worry about the cartoons' contents.

d. "The Simpsons" spreads nice manners and behaviour.

e. Before taking a child to the movies, it's important to check the movie
content.

4. Read the text and do the given tasks. 10

Hi Nishu

I'm really sorry but don't have time to visit you so I'm writing this email
instead. Last night, | went to the cinema and saw a great film. You can
also read the book — and | heard on the radio that it's true story. It's about
a family with three children, two boys and a girl, who lived in a village in
India. The children went to school there and had lots of friends. When the
children grew up, they started thinking about moving abroad. The sister
went to France to become a teacher. The older brother went to America
to open a restaurant, only the younger brother stayed in their home
country and worked on his father's farm.

When they grew up, they all got married and had lots of children. The film
shows us the good and sad times the three families had and how the
brothers and sister didn't see each other for ages. The children, who were
cousins never met when they were little. Many years later, when the sister
became a grandmother, she decided to see her brothers again and meet
their wives and children, so she invited them all to her big house in
France.

I'm not going to tell you what happens in the end because | want you to
see it yourself. | also have the book, I'm reading it now, but | think the film
is better. | would like to see it again so you can come with me and my
sister on Saturday. I'm sure you will love it when you see it. It's a little bit
sad, but not all the time. Sometimes | laughed and sometimes | cried, but
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| can't say the film is funny or sad.
| hope to see you next week.

Love
Gita

A. Find the words/phrases from the text for these meanings.
(5X1=5)
messages distributed by electronic means
began
out of the country
finaIIy
causing laughter, humorous
nswer the following questions. (5X1=5)
What did Gita do yesterday?
What is the story of the film about?
Who doesn't leave the country?
Who arranged the visit to France?
Why isn't Gita telling Nishu the ending of the story?
5. Punctuate the following text. (10 X0.5=5)

“yes,” she replied. “i threw a stone at the mango tree.” They asked her Did
you throw any stone at the king the woman didnt answer but turned pale the
woman was arrested and presented before the king

6. Write a description of one of your friends. Write 100-150 words.
Include information about the following. 5

a. Your friend's name, age nationality, job etc.
b. Your friend's physical appearance
c. Your friend's personality
d. Your friend's hobbies
7. Imagine that you were ill and visited a doctor yesterday. The
doctor has advised you to take a rest for at least a week. Write an
application letter to your class teacher for a one-week-leave. 10
8. Choose the best answer to complete the sentences and rewrite

o
PO TPPOOOTY

them.
(10 X0.5=5)
a. Look! Thereis ...... owl on the window pane. (a/an/the)
b. |1 come from Darchula. Where are you .............. ? (in/at/from)
c. My father always ........ early in the morning. (wakes up/woke up/is
weaking up)

English (Grade-6) 15



16

d. Nitu likes dancing ............ she doesn't like singing.
(and/but/because)

e. My sister is 15 years old and | am 12. | am ......... than her.
(young/younger/ youngest)

f.o from me? (What you want/What do you want/What do want)

(o PR "is a common noun. (Kathmandu/Nitesh/Girl)

h, ......... you give me your pen? (Can/May/Must)

(TR I marble when | was young but now | don't. (played/was
playing/used to play)

Jo e the door! It's cold in here. (Close/ Closed/Closing)

English (Grade-6)
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500 T dre fagd 9 I F(q At fhar TSism ?

3. qHF T3aT TSIl FFIAMHT d@Tarelsh] 98HT HERd [6 |
=~ LN \2 LN ~ ~ c c LN
(EF)G?ﬁHaTWWEWW?éwmﬁTWWWW

& MYHHT oG @ g ed 7 Tl SRl |
(@) afe ITHl AfEF qod & 20,000 T A7 SRTENH RIATAT B ar @= g

Y, T SR |
() ST R & AT @y STAATH T3 TAATHH AT WY ACTeld |

4, iETarer ATEAT SRIGRTET AT WA qqaqare 10 T Fawarg swr & 1200 1
fepfve |

(%) T3l HAHB! HA HIA IhI WS, ?

iz T (FET-€)



(@) 10 ¥TeT HTHES q=&T qHAATs JTFT & 100 ATRT A0S I Il UICT HelH
HITAT fohrepl Tee; 7

() gieaarer fbTepr 10 TaT FATHS RIS 6 ST oA 651 T TR T FRIATS
Fq Hq gfqerd Fad QU AesH, 01 TSR |

(=) afs greers 50% FA9 fSUdr U g qfeas=aT Hiasiel &9 HH a7 del
T TS 7

5. XTASAT! TAIT RN T STHET ST ATAAFR G TY o SITHT &R aRTeR 3, |

(@) et seRr dme 2500 M? B 9 AR AETZ F AT 7

@) afe TATHH! STWMRT a¥aTg AHATHI TR a¥TgHh alea? F AT TATHERT
ST AFATE i Blel 7

(A1) TATHD TR =TS FHIq g ?

(%) Al ATHAT ST FRAR Tk G2F AT FlS AR °UH Aevgd I9 HIeTg aal
g a7

6. 9Ifere a9 2078 HT SFdl HIEATHS faareraesd! &er 6 i@ 10 I+ 9= qusr fammdier
g qd AMABTHT [GSTH B |

HETT 6 7 8 9 10
Tt Tgen 80 60 100 90 70
(%) TTABIRT ATIRHT JTRAIHT TH o TR THE |

(@) STAT HTEATHE [T At av 2078 | e 6 sfg 10 A STEAT i ST
foramst 9T WUHT B

7. (&) TR AT AATS FE AY (5 T Tl 9Q afsd detard |
Ax%y ¥ TxPyz AT I2EE A |
(@) el 313 9erd |
X BT {5 AT AN G A STAGT e e |

(1) TIQT SATHTHT 6 Ul Fbeld S | &1 ATHEHT 8 UIhT eheld B | Al G
qTeTHT X ¥TaT Feheld AU o ATHEHT T STHAT HITHATT FhAT TESH 7

TR (FEHT-%) <



8. (&) UIAT ATATHR FHTAHT &Ahel 12x°y? o Afvefey T =rerg 3xy Afrafuar wuar
SHT THTAR] AFeTg H(A &I, TAT AR |
@) I x =2 Ty =3 HUHA] I THTAD] AFg T &ARA Hid Hid ardl, gl
ST |
9. fagza wwar fara 8 At #W T | A TAGT T ST 32 AT Wy W
10. %) % 9fq w9 a1 TSHETH! FATNE V, fFARTE E 7 gagars F AT faeifere
qE TARTHA EA &, Cerd |
@V +E+F=2@ENV -E+F=2@®@ V+E-F=2@%V -E-F=2
(@) el 313 9ed |
AP TRIURT F TZ a5 TG TW@ETSATS ..o A=, |
(1) TATHT TN TR 8 cm T Y@r@ve XY fa=Aard | HFIEe TN MR faeg X A
90° T HITHl T=AT T @@Te PX f@=ied |

(") famge® P, XYY SIISaT a1 st &&dl sl dwg PRl Sl |

11. @) feguar f=a=ar AB ¥ CD fa=iar I%=a qa1 AB T AE fa=i®r &+ Jekd |

A B
c D
E

R0 TR (FET-6)



(@) [EZUeRT TSP HIEE SR TANT T ARG | BIUTHT ATURAT [Tl st e
THRH B, TeTad |

B C

12. (%) feguar A(0, 3), B(3, 0), C(0, -3) ¥ D(-3, 0) fa<gew® MIemgHe® ITHIITHT
HIHA Terd | A1 fovges FA SATgal o ol ATH Jelerd 3 &a%d 97 ol

ATSTET |
(@) TIe ATTHT AR ATHITH TANT T TGAAT TR T T 7§ AR |

TR (FEHT-%) 9



fafrsdiepzur arfersr 00z

FeT © & foaua : fas qar wlafa
qie
o T fHHTU TET Todl dEHT WeH ([, g T GAET) AT = deabl g9 (Faeereor,
& ThIg RIEU] THET | TS
T AT AGFAT | ATHFIR
GHAHCHSE T8 T
M EIE} T I qETT
(0%) (30%) (30%) (0%)
9. | a=itee faeprs 90 3
AT qAT AR e e e g R R
R ‘fiﬁfa 30 Al b dhlHH dehlcdeh (Rx9) R
= 9 PEG) 99 (3%X9)
e T faresesr .
3. . ¥ (}%9) (3x9) afq grerye 'y
) aﬁ-
Sitaes fafaear ¥ . (RXQ)
¥ Y afT At grer | grenyed 12 Y
AT EIARET g9 (IX9) IR LD
x. 10 (RX9) (Rx9) Q%) :
% |9 ¥ = q0 Brar g9+ 3
999 | BT
o | 3 ot 20 e EIcy (3%3) ATHL T .
(A%R) (3XR) CEXS 9
5. | fagd T == 94 ATHL 9T £l
N R p— 40 ATHLILA | ATALILA (§%%) 3
(q%%) (qx)
qo :
EEHP ¥ 4
W | 3 S i | ° .
L]
SHT | 9%0 q0 % AES q0 %0 %0
TEY 997 AT
gfa
Je] THhR 99 ¥ ggEdT STHT STHT
ASHAT e, ,
i :
9. TgAR(TF F9T | q ASF R 3 3 R 90 90
N afq ey a;as 3 3 3 ) 5 S
3. B EE 3];5 q 3 3 q T 9%
¥, ATHT 9979 ¥ gk q q q q ¥ 9%
% % g ] % 30 Y0

HATSHA ¥ (A1) A5 AT Ifeciiad FAEUET T AZFAR ATAR FASAI S |

R
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o TEABIAF YT T AT DAl T q AIH, Sl I9F X dqH T ATHT G99 ¥ AGHHI
A FIATT G |

o THEH AT ATFARHT ¥Iae T e &7 d THE TTH THEH £3 g7 a9 T4
I9F FATSH AlFT B | O¥ F Uhlgals T T I8 S |

o R AT ¥ ASHHI TIAHI ANl TH Jedahl Tk Ia¥ (1 mark will be assigned per
element expected as correct response) AT TN T2 AR T |

o TIAT T ATHI 9T TIE TEhl a7 g5 AT THHTwET d&l AHAICHS AAA TR qeee
qHA T Y9 IAT3A 99 Fichd & | O THIAT IfedArgd qaehl STHAT ARAT Feed
I, |

AT FEATH

HET : & faer « T e
gtata

QIS © %O FHT : q 9T R0
e

qHT o T4 AET B 1 (All the questions are compulsory)

g % (Section -A): KA T (Objective Questions) 90 x 9 =
q0
AT FEAHI (5 faebeaar Well Forer (0) TG |

Circle the best alternative of the following questions.

1. ATIATR TH AT THS & & 7 Whichisthe S| unit of Volume?
(A) feex Liter (B) fafaferez Milliliter
(C) fex Meter (D) =fHaz Cubic meter

2. TEAY TTETATE reiAdehl TETddrd Jageh FFARATE Yl T FA AUSRT JaT a
SIFELHT FANT T Aik=g ? (Which of the following storage services or devicesis
used to access important documents online on any computer ?)

(A) &1 fe=F (Hard disk) (B) e grew (Google drive)
(C) = gr=9  (Pen drive) (D) f&st ar fefafe grew (CD or
DVD drive)

R (@Ferm-5) ]R3



3. faawr  gEeiter fovares T@rsua 8 | fawar M &1 FISIR 91q ¥ ar|r S0 B | faear
N & %8 fasfaa 51 ¥ afaar qrde® 9 | 39 faarel 9T¢R §9 Sl T19 grebeb]
3 | Two plants are shown in the pictures. The plant M has thorny leaves and long
roots. Plant N has poor root and thin leaves. Both plant body is covered with wax.

SEEa Hw CH RIS ‘ﬂ'@f B WhICh of the following statement is correct ?

(A) fowar M &1 &9 T9eE Hiedde a=rss 99 fgear N & 89 JFel IRRaTe
9T TATSAETE T=eE | | Wax of plant M protects it from decaying where as
wax of plant N prevent loss of water from its body.

(B) fa®ar M ¥ N &I &9 faviesel sTiRare qr Tarsy e+ | Wax of plant M
and N preventsloss of water from its body.

(C) fa®ar M # H¥or s¥RATE 91 TETSH féad 99 fazar N &1 #9a 79<rs
Ffeere Srmse | Wax of M prevent loss of water from its body where as wax
of N protectsit from decaying.

(D) fogam M ¥ N =1 &9 faeitesar sréRare qr Taree 3¢ gerss | Wax of plant
M and N increase the rate of loss of water from its body.
A, TFT HeH FA Afte Stge waaa 21 ¢ Which of the following is a biotic factor?
(A) @rar Air
(B) T Water
(C) wrdr Sail
(D) F&Hsita Microorganisms

5. ST fa g=siET Afa=g ¢ Why is leech called parasite?
(A) a1 ferdr sisHr g | Itisfound in moist place.
(B) TH HERUS AUHT SATERH! W &3 | |t sucks blood from vertebrates.
(C) ada R Aifaar 7 farr g3 1 Its body is slimy and slippery.
(D) F9%! R @UE @IS Il &7 | It has segmented body.

R¥ R (werr-§)



6.

7. TRAATA Fobeh! UISTH SeadlelTs THAFH FH
T VIR HIEA T [GgURT HT FA AR A

ATl AT STHRT TERT qilel AISTHT /1A eTell fog sy 9T (A) T ey
FISTHT MG | 9IST (B) T W1 I SSHT ATGH | §9 AT aRTER AT A |
qd ATSTHT TEITH! AqeATebARl AT Ta96R 5 | While growing Jamara during
dashain, Ramila put soil in two pots and spread seeds on them and put pot A in
dark room and pot B on lighted place. The result observed is as follow:

q1er (Container) | STRTHT gig (Growth of Jamara) ST T ( color of Jamara)

A g4 ekl ( good growth) gear (yellow)
B g4 aa ( good growth) gfedr (green)

o9 AT FE4 ghisd g8 ¢ How would you grow further yellow colour jamara

to make it like other common plant by using the knowledge you gained from

science subject?

(A) °TH ARE SISHT ey T ATAeYF A A fa=g | | will put it in sunlight and
provide necessary water and fertilizer.

(B) 7= femg 9=r 2w | | will pour water to it every day.

(C) &rar @ &R ST3HT e | | will put it in aerated dark place.

(D) F&aTs @teedd BIUR e | | will cover it with plastic.

93 g 7 Which of the methods given E. E E
below would you choose to cut arica nuts while

applying minimum efforts?
(A)  TRAATHT STTGHT ARTHT FATST TEATS | Arica nut should be kept at the front

side of the nutcraker.
(B) @rdreT fo=r W guTET weAs | Arica nut should be kept in the centre of the
nutcraker.
(C) TRl TmgIiSehl ATTHT qUTST Teds | Aricanut should be kept at the back of
the nutcraker.
(D) AT FEgd FISHT qUISl &l 1 FHH ad ameasg | Equal effort
should be

applied regardless of the position of the arica nut.

8. JTARTH ATAAT TeTehl THTAH! (Al ¥HE &7 &l | Based on the application select

the correct grouping of chemicals.

R (Fer-5) Y



A. I, feazsive, 9 AW, tivedites Soap, Detergent, Stain Remover,
Antiseptic

B. @ 9T, 29u%e, MR, 1 Baking Soda, Toothpaste, Vinegar, Camphor

TR, AIfeqH FRISS, HArd, dera Sucrose, Sodium Chloride, Phenol, Petrol

D. 9« qfed, wfeda, difaw a3 Nail polish, Kerosene, Olive Oil, Ghee

O

9. AT AT & WATE (5% & ?» Which of the following is a correct statement ?

10.

R%

A. FreHsH Siae [q=ge g5 1 Soap is bio-degradable.

B. feetsivea®r wfaw fa=gew g1 Detergent is bio-degradable.

C. I ¥ feavsieaa®l Siae fa=ge= g5 | Soap and Detergent, both are bio-
degradable.

D. aree ¥ feavsteesr SAfa®
degradable.

o i S

[I=gaq gad | Soap and Detergent, both are non bio-

TSar fAETET A, B ¥ C ¥@¥9e® A | wa99 A O9cd 9¥ TUH, Ao <
TR a5 &1 | 9F99 B # uNcd diY, qgeeiie T A 0 g | dedd C

=fe HATHH gl &l 99 T [HH0ars gearsd aRUes qaadl Hed & el ardl 7 A
mixture has three components A, B and C. Component A has high density,
insoluble and non-magnetic. Component B has low density, insoluble and non-
magnetic. Component C is Iron fillings. Which one of following is the correct

steps of separation of this mixture.

A. THITATS 9THTHET Sied A9 mgard fsar 19 | Dissolve the mixture in water
followed by distillation.

B. FHHUETs IHMAT b ofq dfrewqfoe 7 | Dissolve the mixture in water
followed by centrifuging.

C. TuErs IFdd A A Arear fwar 4 | Attract the mixture by a magnet
followed by distillation.

D. R¥ers FFasd a1 A diew g T | Attract the mixture by a magnet
followed by centrifuging.

frmrT (Fem-5)



gus @ (Section -B): Afq BT T (Very short questions) s xXq=g

qAHT AT ST TP I A@Ter€ | (Write very short answer to the following

questions)
1. 9€ YEEX T9Ea9Rb U3al F AERld |
Write down any one function of the word processor.

2. Bl T TATHRIS TIC THRHT HMA (A1) TaSA | &l &aT &4 SATHIHI [qebra fepet
a7
Plough and tractor perform similar function of ploughing the field. Why is tractor
invented even though we already have the plough? (u)

3. FET SAdTs @uNE 9iH=g ?What type of organism is called autotroph ?

4. Tt TT|T FTSHT ATHI el (IATAR) HI FeErIdTd T3
TS IJoATerl WISREH! T | AT GSHATs ool AT
qIEATS AT Siledeh © [oTdT WUl &3, ATA=T
ATHT T |7 @ISRl Aval Al IArdd [G3Uhl ee A
qUTE FAATE IAAE AN TS, ? FRY faq2rd |
In the given figure, a lever is used to lift the stone. If
you are given three levers; the first one like in the figure, another shorter than that
and third one is longer than the one in the figure. Which one would you prefer to

use? Give reasons.
5. Tt o= g5 = Al amEE A TRIEH!

gy | T ET S A gt
ST A€ THHT AT q9re A ¥ B 7 & %
qfeerT Brle THgs, fh 7 JN)

/
i
#

4
-y
Ad

In the given figure, we can see two different fig A
methods used to load goods on the vehicle. Which methods would you prefer to
load goods on the vehicle easily?

6. FXATH BISHT | AT [Tl el | I & HU,

NN

HY 8¢ el el H&rel MCB (Fer=r st&q) @dest ' —

TR AT JBIE d¥ HiX o= el Hiarhl MCB

| : |
o RN AT

G | IFT LT FHETT T & Tl ?

frmrT (Fem-5)



Light cut off at night in Sarita's room. While looking for its reasons, she found that
the MCB of her room had gone down and she raised it up but when she raised up
the MCB, it immidiately went down again. What should be done to solve this
problem?

7. JATT SHaehl it TFId gl % Uk FRI JGTE |

Write areason for the existence of animals on the earth.

8. gTdeg® Hefedl ¥ dI9ehl GeTelsh gral | AT UEeepl ATHT dTc(ebl TIel JTATTar
AT |
Metals are malleable and good conductors of heat, write down one application of
metal based on these properties.

gUg T (Section -C): BT 999 (Short questions) g X X =19%

TABT G TR IAX dealq | (Write answer of the following short questions)
9. It faeprs wisRaTHT Tere g faendt fba e forsrg wsmasr gag 7
Why should the students participating in scientific learing processes need to be
inquisitive?
10. el erereifer YA T emefe WAt SUeRwr wamrg gfafae gamtewer &t
IvEd T g | a9 WATSATS % 3% SaATeXvdied IR e | ()
"Modern devices that we use nowadays are improved and modified form of local
technology.” Justify this statement with two examples.
11. =ERT T GRATTT FHA FEATST AT e | Write any two differences between a
bat and a pigeon.

12. YFHA ATHT FLATAHT T3l AT fordar 9 | Il AT [auarehl THg Gaara =ach

B | IHT F UIETHT THH] AT IAaTs gearel ¥R fqard | Resham found a
new plant in his kitchen garden. He wants to find out the group of that plant. Give

him two suggestions to perfom that task perfectly.

13. BT T AT ATTLAF TH T3 Ald] AALART ACTerd |
Write any two conditons required for the formation of shadow.

g R (@®€iT-5)



14. Geort fazra afvay ¥ ave faga afvagest &4 ggeter fa=rar Jete |

Write any two differences between open and closed electrical circuit.

15. TSl Il RATHH Tl a7 Al =gals Al IFd
gATSA Albry ¢ A fafudare TFE gATed AieTars
BITHAHT ATEAT TR (A)

How could a thin sheet of iron or a blade be made a :

magnet? Explain the method of making magnet in brief.

16. F&i ForaAT qfer e &7AT A TRUH IS @SUH S | I q98% A0 &l g

Sifgd T qARATs FH ST AN FAFAFET T Fibd gl

TEeE I
AT |

A road constructed in a landdlide-prone area is shown in the given figure. Write
any two measures that can be adopted to minimize the risk and effects while

travelling along such road.

gUg ¥ (Section -D): ATHT 999 (Long uestions) ¥ X ¥ = 9%

AT BIET TRl ITX &l | (Write answer of the following long questions)

17. HiewHEe FeT & F1 JIH JAIGE GEATHT (400w [0 areq Tl qredqregaars ad
aferehTaT fegue ) |

Nepali | English Mathematics | Science Social Studies | Computer
35 42 46 38 34 43
=RUEE [q&]d ®IH] TETad |

The marks obtained by Mohammad in the first terminal examination of Grade -6 are
given in the table below.

Nepali | English Mathematics | Science Social Studies | Computer
35 42 46 38 34 43
FrrT (wer-%) BSS




How can we fill these data in a spreadsheet and arrange them alphabetically? Write
these stpesin details.

18. AT [errAT TaTdert fafam sEwarar siveewes feafqars @mesr g | Fas s@are
T o feguat g I faq2rd | The arrangement of molecules in the different
states of matter are shown in the figure given below. Study these diagrams and
answer the following questions given below.

A | BT C 919 &7 &7 JaEIE® & !

Name the state of matter of 'A’, 'B' and 'C'
Ay feUHT qerder AHHAET AT AlAdh I FaAH_T a6l T HH HA B
HATATHT T, ? AT AATATH] AT a7 FeART dGl T FH gAhl FRIAET ATE

(Y
> \l

(C)

Name the state of matters in which the speed of sound is maximum and
minimum. Explain with reason.
19. 79 "iifeafas ggfaer Sfas s@aaemag Saev@fea av THEE | Describe the
biotic factors of forest ecosystem with suitable examples.

20. TAHT JcUH THHUIH] TEIR Tk THaATel IaeX0 e | Give an example to each
of the following forms of mixture.

30

i. 319 T avesl e Mixture of solid and liquid
ii. 3@ T 3w faEor Mixture of solid and solid

iii. @Xa T averer M=o Mixture of liquid and liquid

iv. g ¥ el mEer Mixture of gas and gas

frmrT (Fem-5)



THAT YA9T qAD] RANEHIHT ATIRAT TARTHT & | G99 AT Farer AR
HﬁﬂmﬁﬁmRmWR%HMEHHmRWﬁ9$ﬂﬂﬁmfmﬁﬁ&I

THTS 3=
AT aT%T ( 1;'HT‘T HHe T UhlTd
Al HeT (0%0) 30%) (30%) e TR TR
(R0%)
9. ERIBCACEAE q0 |9 .7 9 rar 3
2 TEAT AT TS G 30 q I q 9.4d. q grer R 2
B S i
3 Q4 9 grer 9 grer q a9 "
¥, T EEE! 12 Y
Y. q0 |q#a@ |9 a9 q a9, 3
q a3 Ex
% | @9 T e q0 N 3
o | e Sraaar gt R0 |9 @rar qu g
s. | faud ¥ @ 9Y 9 Frar 9 Frar q .. S
Q. | T T F=ReT 90 9 FF. | q AT 3
q0. | gerd 9y q o, Y
49 e Sframar wanT g %0 q T q 1.3, q T3, 5 :
© | yerdEw
SHT | q9%0 q0 9« $0 %0
R (FET-§) 9




fafrsdrezor afear
vy e, TRE agr fasHreTs war

FT &5 qUIEE : 4O

T AT JAT HGHFAR faawr

. | A/ TH g q. qgF | A Qg TART I= g&rdr ST 99 e ST AEHAR
il e | e | 9R EEEZ
Hugr | Euer . L O P = O 1 O O = O I - A =1 ¢ afq | =rer afg | grer | «rEr
1. g R L3 ¥ ¥ ¥ R 9 9 9 9 9 % ¥ % S R %
| aEiTE wRE T | o v |
wmfa® @
3 IO T G AT s ¥ ¥
¥, | I, qRew ¥ wAtwE | o O |
EREIRS
Y. | A Far T % ¥ | ¥
e
% IR STATH ¥ R
- % R
¢ EW?W g 3 |3 3 1| 3 4 q 3 3 R 3 KT
c. ERES ¥ L3 %
R ART % R R
q0 | TRl TR, ¥
@ T IS 1° i
1 o : R g g g | 9 q 3 3 3 v | w
QR | AT ¥ qreA q0 3 ¥
93 | I T Afa g R R
S ’% ¥z | 4o | & HERE HE 3 ° | 90 0 | 0 [ R0 [ wo
Hie :

o gy MHHIV T (W d@ehl WeH (1, S T AR q9T 9o deeht G (FAeera, geargehd ¥ o) e qEeht JeE T A UHISH] SAUUTS ATTH TEY J97

FATSA B |

At el 999 9 A<F, GIer JIF I AGH T ATHI YA ¥ AGHHN A AT B |

AT GUSHT ASHFARHT & TeaE Aa T IH GUSTHAHT THEERHT +- I §F T T T qATST ATk 3 |
YTERE GUSHT THAT ASFAR 4R UTaE g I T GUSHTAR! THSEEHAT +- R &7 T T J9 TS (b G |
TSTTCH® HATH GUSHT TTHAT AFHR R TeAE Tar T I GUSTHAHT THEEEHAT +- I g T T I qA13 qiehe B |

R @TRT, T ToT [Is(aIeHweE Fr (FE7-§)



THAT I @ e &
fowwr © w@re, TR quT fasATcRE Fer
(Subject: Health, Physical and Creative Arts)
quiige : 40 JHg : q = 30 fAe

qAAPT T TR IR eTe M | (Attempt all the following questions)

THE (%) afd Ber 787 (Very short questions) 90 x { =90
. graTarg feed ATt 9 7 BT TSe FR et |
(Why isthe skin called sense organ? Write a reason)
R AfEII=SR JOITCATRT F U FTd AR |
(Write any one function of skeleton system.)
3 FEIATAA T&TT T A= dal Aol & &l 7
(What isindoor service provided by hospital ?)
¥ TR FAATOT I Y 3 @R G0 i TR |

(Mention any two sources of body building food.)

Y. TS HEH [ @I &3 7 F TS PR Ioi@ T |
(Why junk food should not be eaten? Give a reason)
% fepsTRTaEaTT M@ w9 UF AHGE qiRadd detery |
(Write any one mental change observed during adolescence.)
9, siferad Gedr FEATT Fare =g 7

(From what does the volleyball game start?

& ATEhade TRl T T AR 99 TSR |

(Write any one basic skill of basketball game.)

% TRAAT (GiTT TSe®dl ATH delerd |
(Write any two secondary colours.)
0.\ B & & ? |
(What ismusic?)

@IRT, ITIRE TIT [GTATHE Fel (FET-5)



THE (@) @Il 999 (Short questions)

90 X R =Ro
qq. fearT=eR T [TTLTT YOl Fasl THATTTAT A=A =T B 7 b g8 AR @
TEIT THE |

(How do skeleton and muscular systems are interrelated? Mention any two
interrelationships.)

Q. TG TTEHT B 55 Hewd qEeld |

(Write down any two importance of mental health.)

Q3. TT TRAT ICAEA g WIHARIEwdTe e WIoTd aaTge Afbreg | Faer 7 &
T5 ANH A&Te T |

(Balanced diet can be prepared from locally productive and available foods. How?
Write any two ways.)
¥, FReTRTE=ITHT gAY, HAIE Ja7 ANORTdHl da9 Tl fafqe Jaames @i |

AATE T AU AT SUTIEE AIATSH &7 7 & 33 ATNF SUIEE eold
T |

(During adolescence, smoking, alcoholism and abuse are seen as problems.
Mention any two practical measures that you can adopt to escape from it.)

. FFHIH] ATATHATS ATASABTEED HITULNH TR TGS Hiches, HAUA 7 AR
F T5 ITTEE oot Terd |

(Muscle fitness of children could be developed through waist training. How?
Mention any two ways of it.)

9%, TEITAT T AT faque % 3% JeTe® TeTerd |
(Identify any two aspects to be considered while trekking.)
0. “TEE TEAHT AT ANTEA T AHAG, |7 T TATZATS 7 5 qbewdiad I

(Y
> \l

("Yogais considered an essential for good health." Justify this statement any two
logics.)

5. aIHN GUTS T TlhT T 5 A ARFEE ACTET | |
(Write any two simple ways to print of any objects.)
QR JUTEATS AT I HT AT T2 e ACTEI |
3% @R, IRTE TIT [GTATHE Fell (FET-5)



(Write two lines of any song which you like most)
R0 TS MWRATe W& T THIT a9, |7 | T3 dbded TLATSTe |
("Dance makes the body healthy and smart"”. Clarify with two logics.)

FHE (1) T 999 (Long questions) Y X ¥ = 0

Q. qUTEeRT faaTerd a7 'R At Tl MRl W TSIT ARl HEA HRU qEA THEE
T GHHT FHETH Al ATdelRE IIIeE Y& T84 |
(Identify the main cause of pollution of water source present nearby your school or
home and present any three practical measures to overcome fromiit.)

3R, YSIA @7 T I HIAHATE IRE® I F FRATET aieer deterd | (Write any
four mode of transmission of food and water borne diseases.)

R3.FHIA AThRl HIEAATS TS FEAI YTATTHE SIAR e ¢ F =RATST GTnfaes
JTEAR dETeq |

(How do you provide first aid to the victim of dog bite? Write any four first aids.)

Y. FASET GAHT TSXA [qUTATE TAhT AT AT fGqa F ARAET JeTes afg=r
THE |
(Identify any four aspects that the raider should pay attention in order to avoid
opposition in the game of Kabaddi.)

Y. FE et fafuare £ 3% A I Y @ISR |
(Show the shadow of any two objects by cross hatching method.)

aa feguar yea fraior T et TR @it g | IesEReT a9 98 T gere
I qHA TR I T AHALE IATg T (FHIO T Flepea; |

Question construction check list-1

S.N. Unit Marks K U A HA Total
Marks
9. AT RR ¥ 1VS | 1VS 26
1S
2 o o 9 VS L
THET P TTRY T HIA[HP HETRY 1S
3. AT ¥ G EHRET ¥ IVS | 1VS | S
IR, FE ¥ grafAs STER 9 L L

@TRT, ITIRE T [FSiATcHE Fl (FET-5) ELS




s AP T I A ¥ 1VS S
% TR SATATH T FATSH R S 12
© TqATaa ¥ qEfaE Rarddes R S
= RS % 2VS L
R RIKl 3 S
30 FHATH =T, T@IET T IS ¥ L 12
19 TS, HIETHT FTH, BT ¥ A0 3 2VS
R A T 9rad ¥ S S
93 T T AT R S
yo 10 16 14 10 50
Question construction check list-2
S.N. Unit Marks K U A HA Total
Marks
q. g IR ¥ S 2VS 26
2. JTHETIF TATEA T ATHGE @ © VS S L
3. AT ¥ G AT ¥ VS | VS S
¥, T[T, FRAT T GrafAE IT=R s VS S L
q. AT qAT FoTew AT ¥ L
% RIS SATATY T a1 3 S 12
© uecifedd ¥ Arefas fwaredraes R S
c. TATE % S L
] RIRI R S
90 FeAThl A=A, @I T 33 % L 12
19 AT, HIATH! HTH, HIEATS T AT R VS | VS
1R A ¥ aTad ¥ 2VS S
93 T T ATqTT R S
yo 10 16 14 10 50
B @R, IRTE T [ISTATHE Fl (FET-5)




fafiriteepRor aferert

T 5 qUIig : 4O
T At Sieaa qur A 4o Rre JUA: R gUET
Afq Brer grar ATET
TINT T TART T TANT T
THTS 3 EERIS:ES A Y | faeHrEs | 5= 3 fasv s | 3=
EIE] faa I=F AT | A faq Terar EIES o Te&Tar
q. BTHT T BTHT FHTS
3(9) 9(3)
3. BTHT | e ATl
19) 19) 13)
3. AN =T
3(9) 9(%)
¥, FrAISTE o |, faEwiq 2
FHTITT
19) 19) 3)
Y. gTEr fara
9(3) q(%)
<. BTHT ek femarsara
19) 19) Q%)
AT FEIT TIT AT T RT&ir 39




TLEA: Io AT [AAN, FATAEATHSE Faea, Hed I AT FHAteaaq ee® ] 99 g |

3

@, BTHET JeAT
3) U
5. SESET T THh!
EELSIEE]
93)
Q. BTHT A=RIfeT FFed ¥
19) 9(3)
ST
R 3 K ] q
. X9=% v X 3= ¥ X Y4=30
eTeR! feRiaH U9 Gl [SET AE% IR
ATHT AT T3 99 A ¥ X ¥ = R0
Tl IAY ATIH T9H 9 VWX 3=
A% AT ST AT 99 ] X Q=2
STFAT RO 10

AT FEAIT TIT AT Fed RTeim




FET %
fawr wraitee srerae o /e "o fran
qHE (P)

>

gfa Frar IR A=A IIHEw

Q. e Aledr 8T ATHEE AUH S FTAINABIHA] Bl AT AlGAT aIeH
T 7

. ATCHIATATHA ARl b &1 7 Ueh qTIH Aelaid |

3 TISYIEE HATSHH e G3Ulel BIFaE®E Ioig THE |

¥ ATl AT SR T HIfeTd gehebl TSEAT @l RT 9% HT SHARAT TRTHT
Hifersr &6 el |

Y. quTg faRTHY gaT qUTERT ATTHATAR ST SRIHT ATATIR ATSATAT | T AT SATRAT
AR ATS & A 7

% WX EdT a9 T & THIAT 7 Th I Gl |

S ATHH T TF Wed Ioci@ T |

S. S AAel ITART HHAA TH A(hes, ? Tk ATRAT ACTeld |

R, FraEXACH TANTATE & TISal [aF Afhs ? qalel hISal JElard |

THE @

BIel IR 33T 8w wX3=1

0 TUTEH! T &Pl ATATERIT FRET TH qITe & HEAT [FATHATTA] Folid gATTH
@ ? A FaTHT ey |

qq TUTE TRAT A AURT FAT AUNTAT ATHT ATIAHAT 99 FeTET & FEA FAER

\:\: ) > \l
Q2. fqare 99Er F & 7 FEATHSHT g (AT THETTHE FA TF IUAEE® @l FETHT
C \:\ l

Q3. XU 9TTERTAHT STUHT B T ATHISAE I Foold Terd |

¥, AL T TR A [HeAar oTeferd |

. Fafed 3 FFAE SAEsel fadRuel Ifad AT E di quTe wEl A
fegms 7 daNTq ®UHT dETR Y |

9§, BRAT ATSIIRT THIATE AT gIH AT A & & AradHes AIASIE S 7

~

F AH IITEE TR |

>

GTHITFE AT TIT {77 T RTeir EN



qqe T

N

AT IURCHE TIE® ¥XY=R0

Q9. “EfFTA ATHAT HAd AT TATA FAAA AR o FGeaNT T’ | TH qATgers
SaERIElEd qite TR |

5. AUTAD] THIHIUHT AAHAGHID ANTETAR] == a4 |

1%. 9 SHHl & & 7 FUTAH] GHEARl Hewd TEIA] ASEHT FEl THed |
9+

0. qURE FEEE EH WME Jehl @EHhd A6 TASTerd I FAFH IIIET
TIhadled WA JeH &5, Uh diiHE ©[d T AW ([qarad @rsderd |
R+3

¥0 FHAITE FETT TIT FT7T T Rreir
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